Name ____________________________  Date _____________________

Chapter 16: South Carolina Up to Date

True/False
Indicate whether the statement is true or false.

____	1.	South Carolina’s population has grown more slowly than that of the United States in the past sixty years.

____	2.	COVID-19 is caused by a virus.

____	3.	All parts of South Carolina are experiencing economic growth.

Multiple Choice
Identify the choice that best completes the statement or answers the question.

____	1.	What was the purpose of the immigration law passed in 1965?
	a.
	remove the stain of racism from previous immigration laws

	b.
	allow more people from Western Europe into the United States

	c.
	reduce the number of immigrants that could come to the United States

	d.
	keep people from Southern Europe from coming into the United States




____	2.	What manufacturing job has had the greatest multiplier effect in South Carolina?
	a.
	automobiles

	b.
	furniture 

	c.
	military vehicles

	d.
	textiles




____	3.	What major problem has been created by South Carolina’s economic growth?
	a.
	South Carolina needs more workers.

	b.
	South Carolina’s natural environment is being damaged.

	c.
	South Carolina must give tax breaks to attract business.

	d.
	South Carolina is in danger of developing two economies.




____	4.	What South Carolina industry has experienced steady decline?
	a.
	automobiles

	b.
	food processing

	c.
	textiles

	d.
	tourism




____	5.	Since South Carolina has experienced economic growth, why are there fewer jobs in manufacturing?
	a.
	Workers make more money in other industries.

	b.
	Many companies outsource manufacturing jobs.

	c.
	People buy more goods made in foreign countries.

	d.
	There is a greater emphasis on the development of technology.




____	6.	Which of the following is generally associated with liberal politicians?
	a.
	higher defense spending

	b.
	programs for the poor

	c.
	smaller government

	d.
	tax breaks for the rich









Completion
Complete each statement.

	1.	COVID-19 began in the large city of ______________ in China.

	2.	Because of its increase in population in the 2010 Census, South Carolina now has  _________ delegates to the United States House of Representatives.

	                                                           2019 POPULATION-US Census Bureau

	
	SOUTH CAROLINA
	UNITED STATES

	Total Population
	5,148,714
	328,239,523

	White
	68.6%
	76.3%

	Black
	27.0%
	13.4%

	American Indian/Alaska Native
	0.5%
	1.3%

	Asian
	1.8%
	5.9%

	Hispanic/Latino
	6.0%
	18.5%

	Native Hawaiian/Other Pacific Islander
	0.1%
	0.2%

	Two or More Races
	2.0%
	2.8%




	3.	_______________ have the largest presence in South Carolina of any minority group.

	4.	___________________ is the second largest minority population in South Carolina.

	5.	The term that describes how an increase in spending produces an increase in income and consumption greater than the initial amount spent is _______________________________.

	6.	One major contributor to South Carolina’s growing economy is _________________________.

Matching

Match the terms with the definitions.
	a.
	affluent
	f.
	globalization

	b.
	censured
	g.
	partisan

	c.
	conflict of interest
	h.
	per capita

	d.
	culture
	i.
	quota

	e.
	extortion
	j.
	voucher




____	1.	a total way of life, e.g., arts, ideas, customs, language

____	2.	free flow of business, capital, goods, labor and information across national lines

____	3.	a limit on the number of people or things that are allowed

____	4.	strongly supporting a political party, cause, or person

____	5.	loyalty to two competing goals or interests

Match the governor with the statement describing something that occurred during his or her administration.
	a.
	David M. Beasley
	d.
	James H. Hodges

	b.
	Carroll A. Campbell, Jr.
	e.
	Richard Riley

	c.
	Nimrata “Nikki” Haley
	f.
	Mark Sanford




____	6.	Hurricane Hugo caused extensive damage in the state.

____	7.	amendment passed to allow governors to serve two terms

____	8.	Republicans gained control of the South Carolina House of Representatives for first time since Reconstruction

____	9.	established a state-run lottery

Essay

	1.	Explain the conflict of interest that arises from wanting to protect the environment and supporting the construction of new factories.
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TRUE/FALSE

	1.	ANS:	F
The national population grew by 80% while South Carolina’s population more than doubled.

PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 1	
TOP:	Population

	2.	ANS:	T	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 4
TOP:	Globalization		

	3.	ANS:	F
Fifteen metro counties are growing, but thirty-one rural counties have slow growth.

PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 2	
TOP:	Globalization		

MULTIPLE CHOICE

	1.	ANS:	A	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 1
TOP:	Population

	2.	ANS:	C	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 2
TOP:	Globalization		

	3.	ANS:	D	PTS:	1	DIF:	Analysis	REF:	Chapter 16 Section 2
TOP:	Globalization		

	4.	ANS:	C	PTS:	1	DIF:	Analysis	REF:	Chapter 16 Section 2
TOP:	Globalization		

	5.	ANS:	B	PTS:	1	DIF:	Analysis	REF:	Chapter 16 Section 2
TOP:	Globalization		

	6.	ANS:	B	PTS:	1	DIF:	Application	REF:	Chapter 16 Section 3
TOP:	Political Change	

COMPLETION

	1.	ANS:	Wuhan

PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 4	
TOP:	Globalization		

	2.	ANS:	seven

PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 1	
TOP:	Population

	3.	ANS:	Blacks

PTS:	1	DIF:	Application	REF:	Chapter 16 Section 1	
TOP:	Population

	4.	ANS:	Hispanics

PTS:	1	DIF:	Application	REF:	Chapter 16 Section 1	
TOP:	Population

	5.	ANS:	multiplier effect

PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 2	
TOP:	Vocabulary

	6.	ANS:	
Military
Tourism

PTS:	1	DIF:	Application	REF:	Chapter 16 Section 2	
TOP:	Globalization		

MATCHING

	1.	ANS:	D	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 4
TOP:	Vocabulary

	2.	ANS:	F	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 2
TOP:	Vocabulary

	3.	ANS:	I	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 1
TOP:	Vocabulary

	4.	ANS:	G	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 3
TOP:	Vocabulary

	5.	ANS:	C	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 2
TOP:	Vocabulary

	6.	ANS:	B	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 3
TOP:	Political Change	

	7.	ANS:	E	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 3
TOP:	Political Change	

	8.	ANS:	B	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 3
TOP:	Political Change	

	9.	ANS:	D	PTS:	1	DIF:	Knowledge	REF:	Chapter 16 Section 3
TOP:	Political Change	

ESSAY

	1.	ANS:	
Answers will vary, but may include references to corporations wanting few regulations and restrictions and government agencies (EPA) wanting restrictions to reduce pollution and protect public health and the environment.

PTS:	1	DIF:	Analysis	REF:	Chapter 16 Section 2	
TOP:	Protection of the Environment
